DROSCAND

M LL

6180-00

Part no.

61800004
61800005
61800006
61800008
61800010
61800012

www.hydroscand.ro

Product group

Type

Material

Pipe dim. (mm)

10
12

25.04.2024

Thread
M8x1.0
M10x1.0
M10x1.0
M12x1.0
M10x 1.0
M16x 1.0

Page: 1/1



